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I. midj;jpw;Fk; tpilasp :        5 x 1 = 5 

1. 
ଵ

ெைఌ೚
 d; gupkhdk; 

a. [LT-1]   b. [L2T-2]  c. [L2T-2]  d. [L-2T2] 

2. ntw;wplj;jpy; guTk; kpd;fhe;j miy xd;wpd; kpd;Gyj;jpd; ruhrup ,Ukb %y kjpg;G 

3Vm-1  vdpy; fhe;jg;Gyj;jpd; cr;rkjpg;G 

a. 1.414 x 10-8T  b. 1.0 x 10-8T   c. 2.828 x 10-8T d. 2.0 x 10-8T 

3. gpuhd;N`hgu; tupfs; vt;tif epwkhiyf;F vLj;Jf;fhl;L  

a. tup ntspapL  b. tup cl;ftu;  c. gl;ilntspapL d. gl;il tupfs; 

4. jpirnahg;G gz;gpidg;ngw;w Clfj;jpd; topNa nry;Yk; xspapd; Ntfk; 

gpd;tUtdtw;Ws; vjidr; rhu;e;Js;sJ? 

a. mjd; xspr;nrwpT   b. mjd; miyePsk; 

c. guTk; jd;id   d. Clfj;ijg; nghWj;J xsp%yj;jpd; ,af;fk; 

5. fhw;wpy; xspapd; jpirNtfk; kw;Wk; miyePsk; KiwNa Va kw;Wk; λa vdpy; 

jz;zPupy; xsptpyfy; vz; vd;d? 

a. ௩௪
௩௔
    b. ௩௔

௩௪
   c. ఒ௪

ఒ௔
   d. ௩௔ఒ௔

௩௪ఒ௪
 

II. vitNaDk; %d;wpw;F tpilasp       3 x 2 = 6 
1. ,lg;ngau;r;rp kpd;Ndhl;lk; vd;dwhy; vd;d? 

2. kpd;fhe;j miyfs; Vd; ,ae;jpu miyfs; my;y? 

3. xspapd; kPSk; nfhs;if vd;why; vd;d? 

4. KOmf vjpnuhspg;G vd;why; vd;d? 

III. vitNaDk; %d;wpw;F tpilasp       3 x 3 = 9 

1. kpd;fhe;j miyfspd; gz;Gfs; %d;wpid vOJf 

2. Gw Cjhf;fjpu;fs; kw;Wk; fhkhfjpu;fspd; gad;fis vOJf. 

3. Nkf;];nty; njhif Ez;fzpj tbt rkd;ghLfs; VNjDk; %d;W vOJf. 

4. Nfhsf Mbapy; f & R f;F cs;s njhlu;gpid fhz;f. 

IV. VNjDk; xd;wpw;F tpilasp        1 x 5 = 5 

1. ntspapL epwkhiyapd; tiffis tpsf;Ff. 

  (my;yJ) 

  Mbr;rkd;ghl;il tUtp 
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AUGUST MONTHLY TEST - 2024 
PHYSICS 

CLASS : 12        TIME      : 45 MINUTES 

         MARKS : 25 

 

I. Answer all the questions         5 x 1 = 5 

1.The dimension of  ଵ
ெைఌ೚

 is 

a. [LT-1]   b. [L2T-2]  c. [L2T-2]  d. [L-2T2] 

2. In an electromagnetic wave travelling in free space the rms value of the electric field is  

3Vm-1  . The peak value of the magnetic field is 

a. 1.414 x 10-8T  b. 1.0 x 10-8T   c. 2.828 x 10-8T d. 2.0 x 10-8T 

3. Fraunhofer lines are an example of   spectrum 

a. line emission  b. line absorption c. band emission d. band absorption 

4. The speed of light in an isotropic medium depends on 

a. its intensity    b. its wavelength   

c. the nature of propagation  d. the motion of the source w.r.t medium 

5. If the velocity and wavelength of light in air is va and  λa and that in water is vw and  λw, 

then the refractive index of water is 

a. ௩௪
௩௔
    b. ௩௔

௩௪
   c. ఒ௪

ఒ௔
   d. ௩௔ఒ௔

௩௪ఒ௪
 

II. Answer any three questions        3 x 2 = 6 
1. What is displacement current? 

2. Why are electromagnetic waves are non-mechanical? 

3. What is Principle of reversibility? 

4. What is total internal reflection? 

III. Answer any three question       3 x 3 = 9 

1. Write any three properties of electromagnetic waves? 

2. What are the uses of UV rays & Gamma rays? 

3. Write any three equations of  maxwell’s equation is integral form. 

4. Derive the relation between f and R for a spherical mirror. 

IV. Answer any one questions       1 x 5 = 5 

1. Explain the types of emission spectra. 

  (or) 

        Derive the mirror equation. 
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